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/ A.P. Calculus AB Chapter 7.-7.2 Area & Volume Unit Review WS #1

1) Given the region below enclosed by f(x) =vVx—2 , g(x) =5—x,and the X-axis.

a) Find the area of the below region. (Write the integral notation(s) as well as the numeric approximation
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b) Find the Volume of solid generated when the enclosed region is revolved about the line x = 1 (Write

ﬁc integral notation as well as the numeric approximation rounded to 3 decimal places)
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c) :I'I%e enclosed region is the base of a solid. The cross section of the solid taken perpendicular to the y-
axis is an equilateral triangle. Find the volume of the given solid. (Write the integral notation as well as
the numeric approximationarounded to 3 decimal places)
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2) Given the region below enclosed by f(x) =In (4 —x) ,the liney =1, and the y-axis.

a) Find the Volume of solid generated when the enclosed region is revo
the integral notation as well as the numeric approximation rounded to 3 decimal places)
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b) Find the Volume of solid generated when the enclosed region is revolved about the line y = 2 (Write

the integral notation as well as the numeric approximation rounded to 3 decimal places)
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c) The enclosed region is the base of a solid. The cross section of the solid taken perpendicular to the x-

axis i§ a rectangle whose height is twice the base. Find the volume of the given solid. (Write the integral
notation as well as the numeric approximation rounded to 3 decimal places) l‘ 2
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